

Kipsy Coffee Pack - Invoice

Thank you!

Customer

Abdulwahab Al Maimani Abdulwahab's Office abdulwahab@abdulwahaboffi ce.com +96897090490 Al Manal Building, Office 108, PO 984, 114 Madinat Sultan Qaboos, Oman **Invoice Details**

PDF created July 17, 2024 \$13,812.80 Deposit

Due Apr 3, 2024 \$9,500.00 **Balance**

Due July 17, 2024 \$4,312.80

Items	Quantity	Price	Amount
Private Label Pourover - Premium Blend Premium - 'A' Train, White	1135	\$0.98	\$1,112.30
Private Label Pourover - Premium Blend Premium - Mocha Java, White	269	\$0.98	\$263.62
Private Label Pourover - Premium Blend Premium - Breakfast Blend, White	262	\$0.98	\$256.76
Private Label Pourover - Premium Blend Premium - Italian Roast, White Aromatic, Rich, Smooth Roast: Medium-Dark	265	\$0.98	\$259.70
Private Label Pourover - Premium Blend Premium - Satchmo (House Blend), White	280	\$1.31	\$366.80
Private Label Pourover - Premium Blend Premium - Bag's Groove (Medium Roast), White	277	\$1.31	\$362.87
Private Label Pourover - Premium Blend Premium - Lush Life, White	271	\$1.31	\$355.01



Medium Roast

View online

Turbinado Sugar, Honey, Peach

Origins: Colombia, Ethiopia

Page 1 of 5

Issue date Apr 3, 2024

KIPSY coffee pack

Private Label Pourover - Premium Single Origin Premium - Single Origin T1, White Brazil Diamond Reserve Cherry, Chocolate, Toffee Region: Cerrado Mineiro Roast: medium	1125	\$0.91	\$1,023.75
Private Label Pourover - Premium Single Origin Premium - Single Origin T1, White Sumatra Mutu Batak Bell Pepper, Cacao, Cedar Region: Lintong Medium Roast	264	\$0.91	\$240.24
Private Label Pourover - Premium Single Origin Premium - Single Origin T1, White Guatemala Huehuetenango Reserve Chocolate, Nectarine, White Peach Medium Roast Region: La democracia (Comal)	262	\$0.91	\$238.42
Private Label Pourover - Premium Single Origin Premium - Single Origin T1, White Colombia Narino Buesaco Peach Rings, Pink Lemonade, Strawberry Medium Roast Region: Nariño	263	\$0.91	\$239.33
Private Label Pourover - Premium Single Origin Premium - Single Origin T1, White Nicaragua La Bastilla El Espejo H17 Hybrid Cocoa, Nougat, Orange Spice Medium Roast Region: Jinotega	269	\$0.91	\$244.79
Private Label Pourover - Premium Single Origin Premium - Single Origin T1, White Org Guatemala Huehue Finca Flor de Cafe Apricot, Lime, Milk Chocolate Medium Roast Region: Huehuetenango	262	\$0.91	\$238.42
Private Label Pourover - Premium Single Origin Premium - Single Origin T1, White	267	\$0.91	\$242.97



264

260

264

266

264

265

\$0.91

\$1.25

\$1.25

\$1.25

\$1.25

\$1.25

Issue date Apr 3, 2024

\$240.24

\$325.00

\$330.00

\$332.50

\$330.00

\$331.25



Org Colombia Tolima Dark Chocolate, Praline, Tangerine Medium Roast Region: Planadas, Tolima

Private Label Pourover - Premium Single Origin Premium - Single Origin T1, White Org Sumatra Aceh

Cedar, Citrus, Herbal Medium Roast Region: Aceh

Private Label Pourover - Premium Single Origin

Premium - Single Origin T2, White Ethiopia Yirgacheffe Banko Taratu Washed

Bergamot, Berry, Herbalicious

Roast: Medium-Light Region: Gedeb

Private Label Pourover - Premium Single Origin

Premium - Single Origin T2, White Ethiopia Buku Hambela Natural Blueberry Jam, Cantaloupe, Peach

Roast: Medium-Light Region: Oromia

Private Label Pourover - Premium Single Origin

Premium - Single Origin T2, White El Salvador Las Mercedes Honey Golden Raisin, Honeysuckle, Sugarcane

Roast: Medium-Light Region: Cerro El Tigre

Private Label Pourover - Premium Single Origin

Premium - Single Origin T2, White El Salvador Las Mercedes Pacamara

Brown Sugar + Cocoa Powder + Lemon Grass

Region: Cerro El Tigre Roast: Medium

Private Label Pourover - Premium Single Origin

Premium - Single Origin T2, White

Kenya Gachatha AA

Caramel, Orange, Watermelon

Roast: Medium-Light Region: Kiambu County



View online

To view your invoice go to https://squareup.com/u/HBZIM8IO

Page 3 of 5



Total Paid	\$13,812.80		
Subtotal			\$13,812.80
Single-serve Sticker Label White Matte	9561	\$0.28	\$2,677.08
Private Label Pourover - Standard Roast Standard - Rwanda, White Dark Roast "bright, medium body and a refreshing complexity laced with hints of chocolate and brilliant citrus notes"	269	\$1.43	\$384.67
Private Label Pourover - Standard Roast Standard - Sumatra, White Dark (French) Roast "rich in aromas of spices, smooth and balanced, full bodied"	284	\$1.59	\$451.56
Private Label Pourover - Standard Roast Standard - Costa Rica, White Dark Roast "sweet, lively, smoky"	275	\$1.43	\$393.25
Private Label Pourover - Standard Roast Standard - Guatemala, White Medium Roast "intense velvety feel, and a tangy sweet finish."	273	\$1.49	\$406.77
Private Label Pourover - Standard Roast Standard - Rainforest Blend, White	550	\$1.29	\$709.50
Private Label Pourover - Standard Roast Standard - Colombia Supremo, White	590	\$0.98	\$578.20
Private Label Pourover - Premium Single Origin Premium - Single Origin T3, White Panama Elida Catuai Natural Blueberry, Peach, Pomegranate Roast: Medium-Light Region: Alto Quiel	266	\$3.30	\$877.80



Deposit

\$9,500.00



KIPSY coffee pack

Apr 4, 2024 (Visa 5876)

Invoice #000306

Issue date Apr 3, 2024

Paid • Due on Apr 3, 2024 Balance \$4,312.80 Paid • Due on Jul 17, 2024 **Payments** Jul 17, 2024 (Visa 8419) \$4,312.80 \$9,500.00

